value

PC.ae.C36.4

Ftrimmed—means(g-

69,818.15) =, p = NA,

P Bonferroni—corrected = 2.68€—=10

O = 848603, Closy [~0.26, 0.27], Npais = 371

R-avg

P Bonferroni-corrected = 0.006

pB(;nferroni—corrected =0.002

P Bonferroni-corrected = 2.0€—11

P Bonferroni-corrected = 1.

31e-06

pBon;‘erroni—corrected =1.7e-11

aglel
(n = 187)

Pairwise test:

ﬁtrimmed =2.77

agle2
(n=52)
age

Yuen's trimmed means test

ﬁtrimmed =271

ﬁtrimmed =2.89

LS

ﬁtrimmed =2.74

agleS agle4
(n=207) (n =207)

; Comparisons shown: only significant



